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<html><head>
<title>Exam</title>

<script language=javascript>
function checkString(s1,s2) {

if(__ 1) )
alert("_(2) "),
return false;

}

if(__(3)  ){
alert("Invalid Balance™);
return false;

}

if(__(4  (s2)){
alert(10*eval(s2));
return false;

}

}

</script></head>

<BODY TEXT=#FFFFFF BGCOLOR=#000000>

<form action = Login method=POST name=FORM1>
Account: <input type = (5) name = name><br>
Balance: <input type = (6) name = passwd><br>
<input (7) name="C1" value="ON" checked>VIP
<input (8) name="C2" value="ON">Enterprise
<input type = submit onClick="return
checkString(FORM1.name.value, FORM1.passwd.value);"
style=width:60 value =Ok>

</form></body></htmI>

FHIH H6H



FAPEFSF 105 # 117 27 pavieet @4z f (F340)
SR R i
o RRAESKFCH (152445 068254 £ 354):
BB TCHE B (D) ~(8) R FHEL

4
1621
13579

H ¢ transforml10X # #; % % based i 4| erfic it X » & 2 10 & =4 o

namespace ConsoleApplication3 {
abstract public class Number {
public int count(int x, inty) {

if(x __ (1)  y)returnO;

else return count(x - 1, y) + 1;
¥

(2) _ public void dispatch() {
System.Console.WriteLine(*"Based");
¥

(3) _ public int transform10X(int based, int x);
¥

public class Transfer {
public int transform10X(int based, int x) {
intindex =1, ans = 0;
while (x> _ (4) ) {
ans = ans + index * (x % based);
x=x/ _(5)
index = index * 10;

}

return ans;

¥

¥

public class DecimailNumber: Number {
private Transfer tr;

(6) DecimailNumber() {

tr = new Transfer();
b

public __ (7) int transform10X(int based, int x) {
return tr.transform10X(based, x);
¥

private void compute(int a, int[] b) {
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for (int i=a; i>=0; i--) {
b[i] =1 + 2*i;
¥
by

private void output(int [] r, int n) {
for (int1=0; i<n; i++) {
System.Console.Write(r[i]+" ");
¥
b

public override _ (8) dispatch() {
int [] data ={5, 4, 3, 2, 1};
int[] r={0, 1, 2, 3, 4};
compute(data[r[0]+r[1]], r);
output(r, 5);
}
¥
class Program {
static void Main(string[] args) {
Number d = new DecimailNumber();
System.Console.WriteLine(d.count(7,3));
System.Console.WriteLine(d.transform10X(9, 1234));
d.dispatch();
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Department (id char(10), name char(12))

Project (id char(10), name char(12), manager_id char(10))
Employee (id char(10), name char(12), project_id char(10), job_title char(12),
department_id char(10), age Integer)
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(1) # - B F# 4 Employee »

(2) #1445/ 5 Salecn#rg B 1 Fa

('0006', 'Kevin', '002', 'Programmer’, '003', 36);

(4) L #%73 B3 &% %k ¢ 4 i programmer & ¢ - :z % developer o
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